Calculus AB
2-2a

(Day 1)
Position

)
s()= sat +yt+s,

Velocity- (<D = s(e)=at +v,

units - Mgee

Average Velocity-
\‘ = s‘ = s.

Instantaneous Velocity-

Ste)= ater\,

Position Function - g(¢) = % atz +wt+s,
- pos-'h'o-f\ (dc'shna)
t-time
a- cscelesadon
v- veloe! hp
- initial  vaeleedd
5, - ing$ial Posl'l'-'ov\ 9= 32 ;-%«I
8- graulhaional cmshoat 99

-1,/
s(f)= sat tyi+s,
stV = at +,
s'
Acceleration’-:‘ )aée)= V&)= a
units - g
Ny-Ve av

Average Acceleration -
L )
““ .‘_ ‘_g - AE.
Instantaneous Acceleration- V&)

i

2
s(f)= yat +yit+s,
S=y(f)=at +v,

s4e=v@y=a()=a

The French fort Michilimacinac looked over the Straits of Mackinac, the
narrowest section of water separating the Upper and Lower Peninsula of
Michigan. A cannon was located in the watch tower looking out over the
lake. The cannon is mounted 64 ft. above the waterline. If the cannon
fires at an initial velocity of 240 ft/sec, answer the following questions:

a) Write a function that gives the height (position) of the cannon ball
as a function of time.

S&)= 3 GDE 4290t 6y
= - )6ti v290¢k + &Y

b) Determine the average velocity of the shot between the 2nd and 3rd
seconds of flight.

o
o < S0=780 22480
2 m S=6%o




The French fort Michilimacinac looked over the Straits of Mackinac, the
narrowest section of water separating the Upper and Lower Peninsula of
Michigan. A cannon was located in the watch tower looking out over the
lake. The cannon is mounted 64 ft. above the waterline. If the cannon
fires at an initial velocity of 240 ft/sec, answer the following questions:

a) 1622+ 2406+ 64 b) 160 ft/s

¢) Write a function that gives the instantaneous velocity as a function of time.
v(@®)=-32+¢ +290
d) Find the instantaneous velocity off =2 and ¢ =3.
Ve 176 .
V(3= sy ¢ Jeee

e) Find acceleration of the shot.

a (&)= ~32 F‘Sa

The French fort Michilimacinac looked over the Straits of Mackinac, the
narrowest section of water separating the Upper and Lower Peninsula of
Michigan. A cannon was located in the watch tower looking out over the
lake. The cannon is mounted 64 ft. above the waterline. If the cannon
fires at an initial velocity of 240 ft/sec, answer the following questions:

a) -162 +240¢+ 64  b) 160 ft's  ©) -326+240  d) 176 ft/s, 144 ft/s
e) -32 ft/s?

f) Find how lon%it takes the cannonball to hit the water.

SCE)- 16t vyotsey DT LEISE-Y
O =-16t2+290¢L+ 64 'Eﬂ&@ £* 5 26sec
g) Find the velocity of the shot at the instant it ﬁl the water.

V(i5.26) = -32(1s.2¢) + 240 = —2ve 32 %%
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